
0414-154EXセカンドギヤASSY 
EX second gear assembly

このたびはヒロボー製品をお買い上げいただき誠にありがとうございます。
本製品の組立に関しましては本説明書を参照してください。

Thank you for purchasing a Hirobo product.
Please refer to this instruction manual for assembly of this product.

0404-616

0404-706 (93T)
0404-707 (95T)
0404-057 (97T)

0414-534

0414-166

2500-047

2500-047

2500-048

H.T

2532-033

EXセカンドギヤ
ハウジング

EXセカンドギヤ
EX second gear

EX second gear
housing

皿ビスM2.6X6
Disc screw M2.6X6

0414-154
EXセカンドギヤAssy
EX second gear assembly

2532-002

（マストを固定）
(Fix the main mast)

2532-019

2532-019

2532-002

2538-012

（マストを固定）
(Fix the main mast)

(Fix the auto-rotation drive shaft)

2532-034

2521-133

2521-053

（オートロ駆動軸を固定）

メインマスト及びオートロ駆動軸のネジ穴
がM3.5の場合
When the screw holes for the main mast and 
the auto-rotation drive shaft are M3.5

別売品
Sold separately

0404-615

カラー3.5X5X5.1
Collar 3.5X5X5.1

カラー3X5X4.1
Collar 3X5X4.1

M3.5X10CS

M3.5X10CS

M3X8CS

M3X8CS

M3X5CS

メインマスト及びオートロ駆動軸のネジ穴がM3の場合
When the screw holes for the main mast and the auto-
rotation drive shaft are M3.

コードNo.
Code No.

入数
Q'ty

品　　名
Name

備考
Remarks

*The prices in parentheses are the prices excluding consumption tax.

税込価格
（税抜価格）円

Price (Yen)

オートロ駆動軸 M3.5 
Auto-rotation drive shaft M3.5

2,940
(2,800)1

カラー3.5X5X5.1
Collar 3.5X5X5.1

315
(300)2

キャップスクリューM3.5X10
Cap screw M3.5X10

525
(500)10

3,150
(3,000)

1,575
(1,500)1Brg. ø12X16Lワンウエイ

Brg. ø12X16L one-way
カラー3X5X4.1
Collar 3X5X4.1

キャップスクリューM3X8
Cap screw M3X8

キャップスクリューM2.6X12
Cap screw M2.6X12
キャップスクリューM3X5
Cap screw M3X5

Brg. ø12Xø21X5ZZ

315
(300)2

420
(400)10

420
(400)10

420
(400)10

10,500
(10,000)

1式
1 set

オートロクラッチAssy
Auto-rotation clutch assembly

トルクリミッターを外してご使用下さい。
Remove the torque limiter.

オートロケースリング、M2.6X12CS付属
Auto-rotation case ring and M2.6X12CS attached

メインマストに固定するネジはM3X8CSを使用します。
Use the M3X8CS screws to fix the main mast.

メインマストに固定するネジはM3.5X10CSを使用します。
Use the M3.5X10CS screws to fix the main mast.

2,940
(2,800)1オートロ駆動軸

Auto-rotation drive shaft
3,675

(3,500)1EXメインギヤ93T
EX main gear 93T

3,675
(3,500)1EXメインギヤ95T

EX main gear 95T

1EXセカンドギヤ86T
EX second gear 86T

3,150
(3,000)1EXメインギヤ97T

EX main gear 97T

1,260
(1,200)2

0414-534

2521-133

2532-019

2500-048

2521-053

2532-002

2532-033

2532-034

0404-615

0404-616

0404-706

0404-707

0414-166

3,675
(3,500)

皿ビスM2.6X6
Disc screw M2.6X6

210
(200)10

1EXオートロケース
EX auto-rotation case

2538-012

0414-229

0404-057

2500-047

ご使用になるメインマスト
及びオートロ駆動軸に合
わせて選択してください。
Select the appropriate 
setting depending on 
the main mast and 
auto-rotation drive 
shaft being used.

ポイント
Point

0414-229

0414-229


